6) 6+ —Sr—4=7 i lo, -

8) 6n° —10n—-16=3 is

10) n? —45 = 12n 5,.\3,'3§
11) 5v* -2 —v=—y 12) 4x* —5x—-3=2%> £a =2
A ' ) b - 'SE.‘!‘ ) "’:IL ﬁ.
Solve by Factoring - Level 2
13) p>+6p+5=0
15) x* =7x=0 16) a* +5a=0 .-

> 0,-55

Solve by Factoring - Level 3
17) 6n% + 5n—25=0 18) 26~ 11x-21=0 $-3/2, 77§
19) 107* + 757 +140=0 20) 60m* +4m — 160 =0 '{8/5, ,5]3§

Solve by Factoring - Level 4
21) 4x® — 17x+10=-5 22) m*+13n+19=4 3-3Jo, = 5

23) 5p% 43 = — 24) 20b* — 40b =25 \ j2e
23) 5v° +3=-16v ) 205 { 5/2_' ”‘]23
Solve by completing the square - Level 2 it

25) a® +8a+11=0 26) K — 14k—19 =0

27) n* +16n—17=0 28) x? —20x+ 64 =0
Solve by completing the square - Level 3
2»9) X +20x+70=6 30) x> +12x+30=-5

) Tn* —14n—-73=9 32) 9m* +18m -8 =5

So. M liy completlng the square - Level 4

AN / b - : % SO £
33) 6x” - =a-124x | 34) 3p” =-12p-9
- II - ) : .
-8 < 21 20 1D) o T -
AN 2L 1 | : DAY A2 L 195 = 1. SNHA i
35) 5n° + 19 9,2»'-1,%'- | | 3@’ 252 +17b= m T 0
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